[> restart;

> 18 mod 5;
i 3
> 2 mod 5;
i 2
> -3 mod 5;

2

> 1875705890543 mod 37;
Error, Maple was unable to allocate enough memory to complete this
| computation. Please see ?alloc

> 18&"5705890543 mod 37;

19

[ > p:=nextprime(02789540789543207895432532890475727890643) ;
p = 2789540789543207895432532890475727890669

> q:=nextprime
(02789540789543207895432552435432543232890475727890643) ;

i q =2789540789543207895432552435432543232890475727890681

> isprime(p),isprime(q);

true, true

> N:=p*q;

N =
7781537816525343683726923930246732975709130485704500882222521745007040898927466\

| 084751955589

> PhiN:=(p-1)*(q-1);

PhiN =
7781537816525343683726923930246732975706340944914954884786299649363712923161685\

| 133296174240

B e:=rand(1l..PhiN) ();
e =

2241637974691627665428376250077485021754428779666883825392127878067915957962628\
17240853951

> igcd (PhiN,e);
> igcdex(PhiN,e,'L','M');

> L,M;
-300770348009470982381614386187307365130474513212194533890695385984375127524984798\
37677336,
1044082882048406078577368280525304384343926597057896838887709504398731356091108\
| 853067920191

_> Mtwo:=M mod PhiN; #see exercise 1.13
Mtwo =




1044082882048406078577368280525304384343926597057896838887709504398731356091108\
853067920191

> d:=Mtwo;

d:=
1044082882048406078577368280525304384343926597057896838887709504398731356091 108\
853067920191

[ > X:=5945354542542354322355425425432;
X =5945354542542354322355425425432

> ENCRYPTED:=X&"e mod N;

ENCRYPTED :=
6779376684601016031329435343244313916100011131951029933862755854927081609635559\

| 569320873300

[ > DECRYPTED :=ENCRYPTED&"d mod N;
DECRYPTED := 5945354542542354322355425425432




